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Register
Number

Language — Part B — ENGLISH — Paper I

[ Maximum Marks : 100

Answer all the questions in the answer-book given separately.

Read the questions carefully and try to understand them fully before
answering them.

Write down the question numbers correctly in the margin in your
answer-book.

SECTION - A
( Prose )

Answer any five of the following questions in about three lines each : 5x 3 =15

L

0: ok ol gk e G0

Who were the Pakistani bowlers Sachin faced ?

Why did Jean Valjean say that he was a beast 7

What was the secret mission of Detectives Hunt and Palmer ?
Describe the appearance of Sambu.

What happens to your ears when you climb a mountain ?
Why was Gandhi surprised to get prizes and scholarships ?
Where is Margie's school and who is her teacher ?

What is multimedia ?

Answer any one of the following questions in a paragraph of about ten lines :

1x5=D0
Describe the sufferings of Jean Valjean.

What were the early ideas of Gandhi about physical education and
writing ? Did he change them later on ?

Write a short note on Artificial Intelligence.

[ Turn over




8318 2

III.  Answer any one of the following in about twenty lines : 1x10=10
1. Describe Sachin's early life and his achievements.
2. Describe the adventures of Sambu in London.
3. Give an account of Gandhi's early life.

IV. A} Choose the correct synonyms for the italicized words from the given

options : Bx1l=5
1. Sachin's mettle could be tested against the fire and ferocity.

a) strength

b) weakness

¢] courage

d) cowardice.
2. 1am a convict.
a) a good man
b) a prisoner
c¢) an innocent man
d) a wise man.
3. I found myself completely at sea.
a) confused
b) worried
c] free
dl calm.
4. Yet the incident in the least diminished my respect.
a) Increased
b) reduced
c) added
d) enlarged.
5. Multimedia is fast replacing the conventional methodologies.
a) usual
b) common
¢) ordinary
d) traditional.
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Choose the correct antonyms for the italicized words from the given
options : Ex1=58

1. Had he pursued tennis, he would never have become a cricketer.
a) followed
b) gone behind
¢] retreated
d) continued.

2. Jean Valjean was exhausted.

al bored
b) emptied
c) tHred

d) energetic.
3. Sir John gave an evasive reply.
a) definite
b) doubtful
¢} idiotic
d) clear.
4. The utter simplicity of the subject was suddenly revealed.
a) complexity
b) tough
c) difficult
d) easy.
5. Computers will behave with the same flexibility.
a) elasticity
b) simplicity
c) durability

d] stifiness.
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D)

E)

R

4

Form new words from the root words listed below using the given prefixes

or suffixes :
1 national

2.  logic

3. play

4 active

5. draft.

(al, em, some, anti, ing, inter, in)

Give the spelling in American English for the following words :

1. programme
2. metre
3. enrol.

Match the following idioms with their meanings :

1. Kith and kin a) listen

2. Good Samaritan b) modern

3. In the nick of time c] relatives

4. Up to date d) help others

5 Give ear to €) right moment.

Split the following words into syllables :
1. Adventures

2. Clever

SECTION - B
( Poetry )

Quote from your memory :
1. "The Road Not Taken." — 6 lines
From: Towhereitbent .........ccovvvunn.

To: veraersesanaanssanaeeaesss About the same,

BEx1l=5

I3x1=38

BEx1=5

2x1=2

6+4=10

»
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2. “The Tables Twned." — 4 lines,

From: There's more of wisdom .....ccovvvvviveeninnns o

To: s, DB YouT teacher,
Answer any four of the following as directed : 4x2=8
1. How well he drove it to the screen,

And then ... the crash of glass.

a) Who is the speaker here ?

b) What was the result of the shot ?

2. My swiftest horse is saddled for thy flight,

Depart before the prying day grow bold.

a) What did Yussouf give the stranger ?

b) Why did he give the man his swiftest horse ?
3. Once I taught you geography, Now

1 am retired, though my health is good.

a) Who is the speaker ?

b) What subject did he teach ?

4. This excellent machine will illustrate

The modern world divided into nations.

a) What will the machine illustrate ? ,

b) To whom will it illustrate ?

5. Books ! 'tis a dull and endless strife :

a) What is the poet speaking about ?

b) What does he say about books ?

[ Tum over
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Q)

6

6. Untled unto the world with care

Of princely love or vulgar breath ;

a) What is untied unto the world 7

b} What is meant by ‘Care’ ?

Explain with reference to the context any three of the following :

Ix4=12

1. So Yussouf entertained his guest that night.

2. 1 am going out rarely, now and then.

3. Lord of himself, though not lands.

4., She has a world of ready wealth,

Our minds and hearts to bless.

5. 1 shall be telling this with a sigh ... .

SECTION -C

( Other Competencies )
Match the following Websites with the relevant information given :

Websites
1. www.hdfcbank.com
2. www.passport In co

3. www.mrftyres.com

4, www. tourism.net.in

5. www.generalhospital.com

b)

c)

d)

€)

Bx1l=5
quMMMt
about MRF Tyres

about the places of visit in India

about the Housing Development
and Finance

about G. H. in Chennai
about getting a Passport in

Tamil Nadu
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B) Prepare a presentation based on each of the hints given below :

Helen Keller

8318
Bxl=5

Born on 27th June, 1880
Became blind in 18 months

Parents consulted Graham Bell
in 1886

Anne Mansfield became
Helen's teacher

Toured all over the world
consoling disabled people.

Honoured by all

1st June, 1968 passed away

C)  You are in the hostel. You need Rs. 500/- to pay the hostel fees. You go to

a bank to withdraw money. Fill in the challan given below : 5x1=5
State Bank of India
N .. Branch
Date - ausssaiiiiinege
Pay self or bearer Rupees [In words ) ......ccveeevieviiiieniiieccerinnnes

------------------------------------------------------------------------------------------------------------

and debit the amount to my Savings Bank Account No. .................

Signature of the
Account Holder

s B el Nl
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Language — Part B — ENGLISH — Paper Il

[ Maximum Marks : 100

Answer all the questions in the answer-book given separately.
Read and understand each question carefully before answering them.

Write down the question numbers correctly on the margin and write
your answers against them.

SECTION - A
( Reading )
Choose the best responses to complete the following statements :
5x1=5
1. Indira Gandhi put an end to terrorism in Punjab through

a) mediation
b)  military action
¢} negotiation
d] submission.
2. Alexander Graham Bell was an authority on teaching
al music
b) mathematics
c)] grammar
d) speech to the deaf.
3. Sarojini Naidu wished she should die in

a) spring
b} summer
c] autumn
d) winter.

[ Turn over
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II.

b)

2

4. In 1947 General Aung San was
a) exiled b) imprisoned
c¢) assassinated d) kidnapped.
5. Joan was burned to death in
a) Rouen market place b) Rheims Cathedral
c¢) Fort of Orleans d) avillage in England.
) State whether the following sentences are frue or false : 5x1=5
6. Prison was a home away from home for the Nehru family.
7. Helen Keller was happily married.
8. Sarojini Naidu was the first woman President of the Congress.
9. Suu Kyl was kept in solitary confinement in a palatial house.
10. Dr. Muthulakshmi was awarded the Bharat Ratna in 1956.
Read the given passage and list out the linkers used therein : 5x1=5

Helen Keller, when she was an 18 month old child, was stricken with a
disease that robbed her of the ability to see and hear, but against
overwhelming odds, she waged a slow and steady but successful battle to
re-enter the world of the normal people.

SECTION - B
( Writing )
Make notes of the following passage : 5

Dr. Muthulakshmi went to England along with her husband on a
Government of India scholarship and she specialized in the treatment of
cancer. She participated in the International Conference of Women, held in
Paris, in 1926 as a delegate from India. In her speech, she dealt in detail
women's problems, the hardship they face, their suppression, injustice,
inequality and the other indignities perpetrated against women all over the
world, more especially in India. She was able to prove that, in India the
suppression of women started during the middle ages only. Earlier, women
in India had been venerated as “Shakti”, the goddess of power, and were
respected and given equal rights and status with men in society. The
conference motivated her to create an awakening among the tradition-

bound Indian womern.
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d)
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3 8316
Rewrlite the statements in meaningful cogent order : 6 x

1. It was written by Homer.

2. The lliad is the story of the fall of Troy and the Odyssey is about the
adventures of Ulysses.

3. An epic is a long poem about heroic deeds.

4. It was also written by Homer.

5. The most famous epic in Greek is the Ilad.

6. Yet another great epic in Greek is the Odyssey.

Develop the hints into a readable passage. Give it a suitable title : 5

An old farmer — sons lazy — father sad — on deathbed — talks of a
treasure in their fleld — dies — sons go to the fleld — dig every inch of
field — find nothing — feel disappointed — sow some seeds — reap rich
harvest — understand the meaning of their father's words.

Write any one of the following letters : 1x8=8

1. Write a letter to the Principal of a polytechnic college requesting an
application form for admission.

2. Write a letter to the Municipal Commissioner of your town complaining
about the insanitary condition of your street.

3. Write a letter to your younger brother advising him to pay more
attention to studies.

( Important : Write XXX for your name and YYY for your address )

Complete the dialogue : 4
[Thedialoguetsbetweenapassengermdthemnd:mqahus.]
Passenger : ?
Conductor : Yes, this is the bus for Salem.
il
Passenger : [ want to go to Namakkal.
fa's
Conductor : The fare to Namakkal Is twenty rupees.
Passenger G N L e R TR
Conductor : It will reach Namakkal at 11 a.m.

[ Tum over
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III.

b)

c)

4

Write a precis of the following passage : 5

Writing essays is an art. Like all the other arts it can be perfected by
constant practice. The more you write, the better you can write.

First of all, you must have a clear idea of what you are going to write. You
must understand the topic perfectly well. If you do not understand what is
meant by superstition, for example, you should not attempt an essay on it.

When you make sure that you clearly understand the topic, you must
pause and think. Write down everything that comes into your head relevant
to the topie, in the form of hints. Then arrange them in a logical order and
develop these points into an essay. You must write a rough copy and make
corrections and alterations as you go through it and finally make a fair
copy of it.

Punctuate the following sentence : 3
it was may 17 2155 tommy had found a real book

SECTION - C

( Grammar )
Fill in the blanks in the given passage with suitable articles : 4%5=2
There is ............... famous saying in English, “.............. apple .oooooeiinne
day keeps .......cciemmaneie doctor away".

Fill in the blanks choosing the right phrase prepositions from the list given
below. There is an additional phrase : 3x1=3

( because of, in spite of, instead of, by dint of )

1. Let us play cards ............... watching television.
3. seeverereennnnns. the doctor's advice he eats sweets.

Rewrite the following passage, filling in the blanks with correct tense forms

of the verbs given in the brackets : 4x1l=4
A WOOACULLET ..vvvvsreseessereseeens | cut ) wood near a river. Suddenly the
AXE ..vvvrersennennnn. | fall) into the river. The WOOACULLET .vvvevnrieceressns | DE)

very sad. A fairy ........ccceeeeee ( appear ) before him.
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Match the clauses in Column A with those in Column B : 3x1=3
Column A Column B

1. If I won a lottery a) 1would have helped him

2. [If you give me money b) [ would buy a car

3. If he had asked me ¢) 1will buy a calculator

d) 1would have bought a car.

Italicized words are the answers. Frame questions for them using the clues

given in the brackets : 2x1=2
1. 1went to Madurai yesterday. ( where )
2. Alexander invaded India in 326 BC. ( when )

Combine the following sentences using relative pronouns : 4x1=4

1. Heis the man.

I wanted to meet him.
2. Ravi got the first rank.

His father is a farmer.
3. This is the place.

[ left my shoes here.
4. The dog was hungry.

It went in search of food.
Identify the pattern of the following sentences : : 2x%1=12
1. Gandhi studied law in England.
2. My father is sleeping.

OR

Write the sentences for the following sentence patterns :
1. S+V+C
2. S+V+I10+ DO

[ Turn over
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Read the following dialogue and fill in the blanks with suitable modal
auxiliary verbs : Bxz=3

( The dialogue is between Ram and Rahim over phone. )

Ram

Rahim

Ram

Rahim

Ram

Rahim

Ram

Helo; -.cuisisissvinsmions I speak to Mr. Rahim ?
..................... 1 know who is calling ?
[ am T.S. Ram, Rahim's room-mate in college.

Hi Ram, how are you ? | am Rahim speaking.

¥ cuvumannsieris like to meet you this evening.

........................ you be free after six ?

Sorry Ram, I ...c.cooiiiiinnnnnnn attend an important meeting this
evening.

..................... it be convenient for you to come tomorrow
morning ?

0.K. Let us meet tomorrow morning.

Fill in the blanks by choosing the right phrasal verbs given below :

6x%=3
1. The workers ....... the strike
2. Thethief .ooiiiiniininnnnansss with the booty
3. Sheelal ..covreeecssmmmremensssrres her grief.
4. The president ........ccoovvciennes the prizes.
5. The patient ........coovevnennean last night.
6. The burglars ........cooveeeans the house.

( passed away, got away, called off, broke into, got over, gave away )
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Rewrite any eight of the following sentences as directed: 8x2=16

1.

The headmaster said to Mohan, “Bring your father to school

tomorrow”. ( Into Indirect speech)
9. Ravi asked Rani when she would return his book.
( Into Direct speech )
3. The police arrested the criminals yesterday. ( Into Passive voice )
4. The crops have been ruined by the floods. ( Into Active voice )
5. The cobra is more poisonous than many other snakes.
( Into Positive degree )
6. No other boy in the class is so intelligent as Anand.
( Into Superlative degree )
% This is one of the best hotels in our town.
( Into Comparative degree )
8. He is rich but he is not happy. ( Into Cornplex sentence )
9. If they had practised well, they would not have lost the match.
( Into Compound sentence )
10. The coffee is so hot that | cannot drink it. ( Into Simple sentence )
SECTION - D
( Translation )
Translate the following proverbs into your first la.ng':lage : 5x1=5
1. Don't rob Peter to pay Paul.
2. Blood is thicker than water.
3. Birds of the same feather flock together.
4. Time and tide wait for none.
5. Familiarity breeds contempt.

[ Turn over
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8
b)  Translate the following passage into your first language : 5

The people of India speak several languages and follow different customs.
They eat different food and dress in different ways. But all of them love
India because they are the children of Mother ‘India. The love for the
country makes them a nation. They are proud of being the sons and
daughters of Mother India.

OR
( For Deaf Candidates Only )
Read the following passage carefully and answer the questions given below :
bx2=10

A certain dove, by name Chitrani had built her nest on the top of the mountain
Kanakachala and was living there comforiably with her family. At the foot of the
mountain dwelt a crow. One day Vega Varma ( such was the Crow's name ) was
flying round in search of food when he noticed a fowler spreading his nets in
the way. He was frightened at sight of the danger and at once returned home.
The dove Chitrant passed by the same place with her family but being off their
guard they all flew into the net and were captured. At once under the impulse of

danger they took to flight together cartying with them the nets that enclosed
them.

Questions :

1. What was the name of the crow ?

2. What happened tc Chitrani and her family ?

3. Did all doves escape ?

4. Choose the right word from the words given in the bracket :
A fowler is one who hunts ...,.............. ( insects / birds ).

5. Rewrite the answer completing it with the opposite of the italicized word :
Chitrani was living a comfortable life with her family.




@gg&:ﬂ%mmﬂ}

eply :

epiiy

8) 27

i)

1)

8318

Reqister
Number

sevoflgl / MATHEMATICS
( Tamil Version )

[ Qurgs wfuCusmnssr : 100

@eseflampsnd préve uGHsd Caram g. gaduTg u@@hdlesr
(pestend Qar@astu’ Geren Gillyseflamy allen weflésayb.,

sredorgd, erapseh Spsswres EGHse Caampd. alloLsepdefiu
2 salll ugseer ( Rough work ) e pgrefe &plugdlila

Qgefloursé amlLeayb.

iif) Gateuenpuilé sefl&slu@b oL Hens, wp&Gareamaliud

==

i)

iii)

S Leuemammenen GG LusTURSSD.
UGS - 3
( wdlGluesm s : 15)
QrLEede o s ufloabg elamssaéeh el uasaab.
speuGleur(m aleamalh@n G AT
guiifialle gaGears olaralped, Brég wLTHD aflen L @i
seflésiul Qereter. Spupdlé sflurer gideg Blal CUTEGHSOTeT

e lamand Care Celg Sgoad Ghéeh swpog (Alphabet )
efenm sraior @HILG afleosgmafles srapgeayd. 16x1=15

T arerp OLEpEGS QarLtafiosdld Qurg afldlgn

<) 3

) 9.

2. prLarly son scflgsdle 1 @ 66 flpan

&) Shsldpen 9)  @rippsdpen

@) sailédlpenn #)  yserdlpenn.

[ Turn over




8318

2
G0 sablle sarsiene) 20 5.0 18, araflé, 285 STD, & Wrdens 2 e o (memeriller
5601 4T Y
3 400 &.Gls .5 <) 10 &.Q8.48.
@) 60 &.QF.f. ) 40 5.0s.8,
(AUB)={1,2385}, (AnB)={2} Gugns A={1, 2,3} ealla

B eretrp semnib

o) {25} @) {1,235}
&g {2} » {1
flx)=4x? aaflé, f(-2)er aSsesid

<) -8 Q) -16

@) 16 ®)  64.

a®,a®, a’? gedér §.Gur.eu.

) a? <) a®

@) a’ ) als

GlEULE eweTLT g6 apohiset shucer srafldy, b? - dac e Wy
<) 0 @) <0

@) >0 k) 4.

e B sreb afdasCarsiash Urans

&) dial urens &) il uresg
@) Srabeshs urens #)  sflures urens.

UL pfles x e oy

=) 150° <) 60°
@) 90° #)  30°.

D



10.

11,

12,

13.

14.

15.

3 8318
uLsdlé BD =4, DC =9eaefle, AD e ffemd
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Language — Part B — ENGLISH — Paper I

Time Allowed : 2} Hours ] [ Maximum Marks : 100

N.B.:

11.

Answer all the questions in the answer-book given separately.

Read the questions carefully and try to understand them fully before
answering them.

Write down the question numbers correctly in the margin in your
answer-book.

SECTION - A

( Prose )

Answer any five of the following questions in about three lines each : 5x 3 = 15

L.

oW B

® N @ o

In which series and how did Sachin lead India into the finals ?
What kind of a person was the Bishop ?
What was Sambu's reaction when he heard that he was invited to London ?

Give the difference between travelling by the old Ambassador cars and
today's air-conditioned ones.

What sort of physical exercise did Gandhiji indulge in ?
Describe the inspector.

Name a few fields where multimedia is used.

What is a hard copy ?

Answer any one of the following questions in a paragraph of about ten lines :

1.
2.
3.

1xB8=5
Describe the sufferings of Jean Valjean.
Explain how the black-market case was solved.
Did Margie long for the old schools ? Why ?
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L=

Answer any one of the following in about twenty lines : 1x10=10
Sachin, the Master Blaster.

1.

2
3.
A)

Gandhiji's experiment with truth started even from his school days.
Mass Media and Multimedia.

Choose the correct synonyms for the italicized words from the given
options : : 5x1=5

72

"Whatever you do in life, be sincere and honest, was my parents
credo’.

a) psychology
b) philosophy
c) disbelief.

Detective Sambu chided himself.

a) praised
b) flattered
¢) scolded.

The daredevil Charles Lindberg was the first person to fly across the
Atlantic Ocean.

a) timid
b) giant
c) fearless.

But this did not deter men from exploring the world.

a) iInterest
b) discourage
¢ attract.

They generated reports on the cost of products, inflation, negotiations
of price, ete.

a) bargains
b) disagreements

c] exchanges.



B)

C)

Choose the correct antonyms for the italicized words from the given
options : Bx1=0

I,

The modern game as we know as hockey evolved in the British Isles
in the 19th Century.

a) sophisticated
b) updated
c)] ancient.

He landed near Paris 34 hours after taking off from New York with no
fancy equipment to help him.

a) crude

b} pleasing

¢ refined,.

The utter simplicity of the subject was revealed to me.
a) showed

b) hidden

¢ explained.

With this, the computers will behave with the same flexibility, ...
a) elasticity

b) capacity

c] stiffness.

Do you understand ? 1 am a conwvict.

a) criminal

b) prisoner
¢) Samaritan.

Supply the full forms for any three of the following abbreviations /
acronyms : 3x1=3

N SIS

UNICEF
RADAR
CRY
CPU
IAS.
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D) Fill in the blanks choosing the correct word from the options given

brackets : I x L=
1. i [ Officious / Official ) secrets should not he discussed
public.
2, Meenahas a ..........ccoeivin. ( bweurtous / luxuriant ) growth of hair.
3. Gandhiji's ................... ( childlike / childish ) appearance and actic

endeared him to all.
E) Write the spelling in American English for the following words : 6 x

b=

1. Fibre
2. Colour
. 3. Marvellous
4. Enroll
5. Jewellery
6. Programme.
F) The following are some words that English has borrowed from othe
Languages. Match the words with their meaning in English : 6x1=
Foreign Words Meanings
1. adieu boat
2. chef a large vehicle -
3. sine die genuine / legal
4. catamaran good-bye
5. jugdernaut without assigning a date
6. bonafide a professional cook.
SECTION - B
( Poetry )
V. A Quote from your memory : 6+4=1(
1. "Honest Thought and Simple Truth” — 6 lines
From: HoOW ......cccsmmvenin
2. “The Table Turned” — 4 lines.
TR OB Luosvesanvmanssssiniamansasnias

2



B) Answer any four of the following as directed : 4%2=8
1. It was a keen, determined school
Unorthodox and free.
a) Pick out the words that describe the school.
b) . Give the meaning of the word 'unorthodox’'.
2. Ouwr tents His glorious roof of night and day.
a] What does the phrase 'our tents' refer to ?
b) Can we see His glorious roof ?
3. I amgoing out rarely, now and then
Only, this is price.of old age.
a) How often can an old person move out ?
b) What is the price of old age ?
4. Two roads diverged in a yellow wood,
And sorry I could not travel both.
a) What does the poet mean by ‘roads’ here 7
bl Why is the wood 'yellow' ?
5. And having nothing, he hath all.
@ Who does 'he' refer to here ?
b) What are his possessions ?
6. Let Nature be your teacher.
a) Who does the poet recommend as a teacher ?
b} What is his opinion about 'books' ?
C) Explain with reference to the context any three of the following : 3 x 4 = 12

1. He was both umpires, crowd, and all,
And plied a busy chalk.

2. That inward light the stranger’s face made grand,
Which shines from all self-conquest.

3. By God's grace, all my children
Are well settled in life.
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A

4. Whose state can neither flatterer's feed

Nor ruin make accusers great.
5. Enough of Science and Art;

Close up those barren leaves.

SECTION - C
( Other Competencies )
Snippets of an item of news are given below. Prepare a newspaper
report : 5
Chennai, March 23
—  Special team - Chennai city police

—  Arrested six persons - recovered stolen property worth Rs. 10 Lakhs.
Gold, jéwels. electronic goods, computers, cellphones and

two—wheelers.

— City Police Commissioner requested people to inform the nearest
police station when they leave the city.

Using the technique of editing and drafting prepare a paragraph of the
following passage : 5

"Number, please,” says the telephone operator, and our minds fly
back to Alexander Graham Bell, the Scotsman who gave us this wonderful
instrument. His father was a teacher of the deaf, and so from early years
the boy learned about the laws of speech and the vibrations of sound. He
began to study electricity, and to wonder if it would not be possible to

convey the human voice along the wire, just like the telegraphic code.

Slowly his experiments took shape, until at last he was able to speak
along a wire to a friend In another room. Now, by the wonderful gift
received from Graham Bell we can call for help when it is needed, ask for
information or have a quiet chat with a friend.
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What place is this ?

What do you call the person in the bed ?
Who is standing near the door ?

Where is the wall clock ?

How many visitors are there near the patient ?
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Language — Part B — ENGLISH — Paper II

[ Maximum Marks : 100

Answer all the questions in the answer-book given separately.
Read and understand each question carefully before answering them.

Write down the question numbers correctly on the margin and write
your answers against them.

SECTION - A
( Reading )
Choose the best responses to complete the following statements :
Bx1=5

1. Indira Gandhi ensured a clear victory for India over

a) China

b) SrilLanka

c) Pakistan

d) Burma.

2. Helen Keller lived a full life and brought hope and courage for
a) others
b) destitutes
c¢) children
d) disabled people.
3. Spring was always to Sarojini Naidu a time of

a) delight

b} sorrow

c) peace
; d] poetry.

| Turn over
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I1.

b)

2

4, As an alderwoman of the Madras Corporation, Dr. Muthulakshmi
upened the home for

a) beggars and lepers b) old aged

c) orphaned children d) widows.
5. Joan was burned to death in

a) Rouen market-place b) Paris

c)] Rheims d) England.
) State whether the following sentences are true or false : 5x1=5
6. Mrs. Indira Gandhi was the President of India. |
7. Helen Keller fought a lone battle to re-enter the world of the
normal people.
8. Suu Kyl developed an obsession to non-violence when she became
a leader.
'9. Dr. Muthulakshmi abolished the water tax.
10. Joan of Arc always led from the front.
Read the given passage and list out the linkers used therein : Bxl=5H

I do not know whence 1 got the notlon that good handwriting was not a
necessary part of education, but I retained it till I went to England. I then
saw that bad handwriting should be regarded as a sign of an imperfect
educaton.

SECTION - B

( Writing )
Make notes of the following passage : 5

Very early indeed Sarojini began to show signs of poetic ability, and where
sums and other dull matters should have appeared in her exercise books,
little poems began to appear instead. When she was only twelve years old
she passed the Matriculation Examination at Madras University, and before
she was fifteen she went to England as the holder of a State scholarship.
But her studies at London and Cambridge were too strenuous for her
youthful constitution, and she had a serious breakdown in health. From
that time forward she suffered almost continually from pain and ill-health.
However, instead of giving way before this heavy handicap, she never
allowed it to interfere with her duties. But worked on with unfailing
courage and cheerfulness.
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Sarojini was described in those days by many famous people, all of whom
spoke of her with affection and admiration. She was very well read, they
said, and seemed older than her years, with a kind of settled wisdom that
came from knowledge of the world and its ways. Like all poets she was
extremely sensitive, quick to appreciate beauty, quick to respond to
suffering and to see below the surface of things. One of her greatest gifts
was her sense of humour, without which no character is ever quite
complete.

Rewrite the statements in meaningful cogent order : EBxy=3

1. All the mice were silent.

Some mice lived in a house.

Some things are easier said than done.

One mouse suggested hanging a bell round the cat's neck.

A wise, old mouse asked who would hang the bell on the cat.

> o B @ ®

They were afraid of a large, fierce cat in that house.
Develop the hints into a readable passage. Give it a suitable title : - 5

Casabianca — only son of a captain — both go on a voyage — storm breaks
out — father tells him to wait fér him in a place — in the ship — goes on
his duty — ship catches fire — all run in fear — shelter for life — boy
waits in the place — father consumed by fire — some other place — so
never comes — son obeys father — waits for him — he too burnt to death
— obedience — admirabie..

Write any one of the following letters : : 1x8=8

1. Write a letter to your brother advising him to take part in sports and

games.

2. Write a letter to the Municipal Commissioner, complaining about the
insanitary condition of your street.

3. Write a letter to the manager of a company applying for the post of a
data entry operator giving your qualifications.

( Important : Write 33{X for your name and YYY for your address )
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Complete the dialogue : ‘

( The dialogue is between a policeman and a tourist. )

Policeman : ?
Tourist : Iwant to go to the Big Temple.
7
Policeman : Yes, this road leads to the Temple.
Tourist : ?
Policeman : Itis about a kilometre from here.
Tourist - ?
Policeman : No, you can't get any taxd here.
Tourist : O.K. No problem. I can walk to the temple.
Write a précis of the following passage : E

In 1936, Dr. Muthulakshmi established a home for the orphan childrer
and the destitute girls and women. She opened a free dispensary for the
poor. Thus was born, the Avval Rural Medical Service. They taught the
slum people to be hygienic, clean and healthy by keeping thel
surroundings clean. Reading rooms and libraries were set up. She
arranged lantern lectures on the prevention of diseases, hygiene anc
sanitation. After the death of her husband, she disposed of her jeweller
and from the money she got, she bought a few acres of land and built :
small dispensary. The Avval Medical Service extended medical aid to th
villages in and around Adayar.

Dr. Muthulakshmi Reddy was a piloneering social reformer. She dedicatec
her life for the upliftment of women. She lived for 82 years with a purpose
and meaning. She passed away peacefully in the cancer institute that she
bullt on 22.07.1968.

[ ]

Punctuate the following sentence :

see here my name is jean valjean
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SECTION -C

( Grammar )
Fill in the blanks in the given passage with suitable articles : 4x5=2
THeXD: 18 il incident that occurred at .......c.ocovvivninns

examination during my first year at the High School, which is worth
recording. Mr. Giles, .....c..cceerririnsens Educational Inspector, had come on
..................... visit of inspection.

Fill in the blanks choosing the right phrase prepositions from the list given
below. There is an additional phrase : 3x1=3

( in spite of, owing to, away from, put an end to )

1. Sachin always prefers tobe .............cee.... publicity.
2.  .ieeevrsessanesesssss NS poor health, he attended the special class.
3. The Government is determined to ..................... terrorism.

Rewrite the following passage, filling in the blanks with correct tense forms

of the verbs given in the brackets : 4x1=4

We ....... (o ( see ) a cricket match in this stadium }résterdaj,r. It

s (D8 ) quite thrilling. The same team .......scuissesa | play )

another match next Friday. I .......c.ccosneeneen. [ just buy ) the tickets for the

match.

Match the clauses in Column A with those in Column B : 3x1=3
Column A Column B

1. [f you play in the rain, a) 1would help the poor people.

2. [If you had started early, b) you will fall sick.

3. If I were a milllonaire, ¢] 1 would borrow money.

d) wyou would have caught the train.

Italicized words are the answers. Frame questions for them using the clues
given in the brackets : 2x1=2

1. I bought this pen yesterday. ( when)
2. His father is an engineer. ( what)

[ Turn over
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Combine the following sentences using relative pronouns :

‘1. Isawa girl.

She sang melodiously.
2. I stayed with my grandmother.

Her cooking was the best in the world.
3. The crow was thirsty.

It went in search of water.
4. Agra iIs a beautiful city.

You can see the Tajmahal there.
Identify the pattern of the following sentences ;
1. Ibought the laptop in Bangalore,
2. The sun shines brightly,

OR

Write the sentences for the following sentence patterns :

j S+V+I0+DO

4x1=4

2%x1=2

1
EX§=3-

2. S+V+C.

Read the following dialogue and fill in the blanks with suitable modal

auxiliary verbs :

( The dialogue is between a Doctor and a Patient. )

Doctor + Your body temperature is 102°F. You ...
medicine at least for three days.

Patient St e R I attend office ?

Doctor N YOI s e n't. You ........ ....... take rest.

Patient : What about the diet ?

Doctor R 0 A A L be on a liquid diet.

Patient T I see _',rcu. again ?

Doctor ¢ No, you needn't.
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Fill in the blanks by choosing the right phrasal verbs given below :

6xg=3

TR 7N ) S our request for a holiday.
2. The doctor advised him to .................. Smoking.
3. He................. the word in the dictionary.
£ Hecuasann a part of his salary.
S. The offlcer .i..viissiases the matter.
6. The scientist .................. a novel idea.
( hit on, turned down, put aside, give up, looked into, looks up)
Rewrite any eight of the following sentences as directed: 8x2=16
1. Madhu said to his parents, "I am studying well now."

( Into Indirect speech )

Mother warned the children not to go near the fire.
( Into Direct speech )

Do not kill the deer. , ( Into Passive voice )
A nest is being built by the crow. ( Into Active voice )
. . Arocket is faster than an aeroplane. ( Into Positive degree )

Very few cities in India are as big as Chennai.
( Into Superlative degree )
The whale is the heaviest animal in the world.
( Into Comparative degree )
In the event of your playing games regularly, you will be healthy.
{ Into Complex sentence )
The old man is so weak that he cannot walk.

( Into Simple sentence )

10. Seeing the mother, the child stopped crying.

[ B P Y o JEECReae. [ P a— 1
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SECTION - D
( Translation )
@)  Translate the following proverbs into your first language : 5x1=5
Make hay while the sun siﬂnes.
Honesty is the best policy.
Where there is a will, there is a way.
Green are the hills that are far away.

g B e

A guilty conscience needs no accuser.
b)  Translate the following passage into your first language : 5

And so the long, dark night of centuries had come to an end, and
freedom's dawn was slowly silvering the Indian horizon. The banner of
motherland, the brave Tricolour — saffron and white and green, with the
Ashoka wheel embossed in blue in the middle was unfurled in a solemn
hour on the floor of the Constituent Assembly.

OR
( For Deaf Candidates Only )
Read the following passage carefully and answer the questions given below :
5x2=10

More than five hundred years ago, there lived in a little village in France a girl,
Joan by name. Her father was a farmer. Joan did not go to any school. She did
not learn to read and write. She spent her time in sewing and spinning. She
was a quiet little girl of sweet and simple manners. As Joan grew older she
became more thoughtful. Often she would go alone to the village church. She
would sit in a corner there and say her prayers.

Questions :

1. %atwaathenameafthegirl?

2. What was her father ?

3. How did she spend her time ?

4. Choose the right word from the words given in the bracket :
Joan was an .................. girl. ( educated / unedu.ated )

5.. Rewrite the answer completing it with the opposite of the italicized word :
As Joan grew older she became more thoughtful.
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- MATHEMATICS
({ English Version )

Time Allowed : 2 } Hours ] : [ Maximum Marks : 100

Instructions ; ) This question paper consists of four Parts. Read the note
carefully under each Part before answering them.

) = Write legibly. The rough work should be shown at the bottom of
the pages of the answer-book.

i} Only the logarithmic and trigonometric tables issued at the
centre should be used.

PART - A
| Marks : 15)
Note : 1) This part contains fifteen questions. Answer all the questions.
Each question carries one mark.

E

i)  Each question has four alternative choices. Choose the correct
or the most appropriate one from among them and write down
the alphabet indicating the response. 15x1=15

1. InanAP, ift =7n- 3, then the common difference is
a 3. b 4
o 7 d) 10.

2. If-33(mod 7 )= x then the value of xis
a 2 ' b 5

g -2 d 4.

[ Turn over
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3. Total surface area of a sphere of radius 1 cm is

a 4ncm? b) 4nr?em?
¢ 4mem? d)  3mr?cm?
4. A-(BUC)=
a (A-B)U(A-C) b) (A-B)N(A-C)
¢ (A-B)UC d (A-B)nC.
5. R={(-1,1)(0,0),(2. 4)}. The domain of R is
a {-1,02]} b {1,04}
¢ {(-1,0 4} d) {1, 0, 2]}
6. G.C.D.of3a?band 15ab2is
a 3ab b) 15a2b?
c) 3a?bh? d 3ab?.
7.  The term that has to be added to x2 + 16x to make it a perfect square is
a 16 b) 64
c 8 d  36.
8. Apointin2x+y<3is
a 122} b (0, 2)
c (3.0) d (0, 4).
9. Parallelogram insecribed in a circle is a
a) rectangle b) square
¢) trapezium d]  quadrilateral.

10. InﬁABC.DE“BC,AD=3mDB=5cm.AE.=6cm*thmECm
a 10cm b) 8 cm
¢ 2cm d) 3.6 cm.
11. ’Ihemidpomtofthelinescgmﬁntjohﬂngthgppints{1,—3]and[—5.?]15

a (-3,-5) h  (-2,2)

P FEE : B 2
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Area of a triangle whose vertices are (0,0), (2,0) and (0, 2) is
1

a) 1 sq.unit ' b) 5 sq. unit
¢) 2 sq.units d) 0 sq. unit.
1-tan?45" =

a 1 b) 0

c) % d) 2.

Standard deviation of the data 5, 10, 15, 20, 25 is 5V2. If we add 3 to each

item, then the new standard deviation is
a 3+5V2 b 8Y2

¢ 5vV2 d  2v2.

A die is rolled once. The probability of getting a prime number is

1 1
¥ 3 b g
2 1
3 d &
PART - B
[ Marks : 20)

Note : 1  Answer any ten from the fifieen questions.
i) Show all the steps.

iii) Each question carries two marks. 10 x2 =20

Find the sum of the first eight terms of the G.P. 2, 4, 8, ........... -
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18.

19.

20.

21.

22,

23.

24.

25.

4
A cylindrical pillar is 3-5 m in diameter and 20 m high. Find the cost of paintir

its curved surface at the rate of Rs. 20 per sqﬁare metre.

If A={a.b,c.d,e.f.g.h}‘ﬂ ={a.b.e.f}ande{a.c.e,g.h}ﬂn
A-(BUC)

Gtvenﬂ-—.{ 1,2.3,4,5},B ={3. 6, 8 }. List the elements for the followin

relations from Ato B

il 1is less than

() is greater than.

When x + 2 divides 4x3 + 5-);:2 + px — 2 without remainder, find p.
Determine the nature of the roots of the equation x2 - 2x + 5 = 0.
Define critical path and project duration.

How far is a chord of length 12 cm away from the centre of a circle of radiu

10 cm ?

In the figure, AB is the diameter of a circle. £ BAC = 42", ind £ ACD.
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29.

30.

31.
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Find the point which divides the line segment joining the points (-1,2)and

( 4, - 5 ) internally in the ratio 2 : 3.
If the straight line 7x - 5y = k passes through the point ( 1, 1}, what is k?
Use trigonometric tables, to find the value of sin 60 42/ + cos 42° 207 .

The least score of a cricket player of the school team s 5 runs in a series of ten

matches. If his range of scores 1s 87, find his highest score in the serles.

If three coins are tossed, then what is the chance of getting exactly one head ?

PART - C

( Marks : 45)

Note: 1) This Part contains ten questions each with fwo alternatives.

Answer any riine questions.
) Choose either of the alternatives In each gquestion.
tif) Steps and diagrams should be shown.

iv) Each question carries five marks. 9x5=45

Find the sum of all multiples of 9 between 400 and 600.
OR

A rubber ball dropped from a height of 50 m rebounds at every impact from the
floor to a height half of that from which it has fallen. Find the total distance
described, by the time it comes to rest.
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32. An ice-cream cone has a hemispherical top. If the neight of the cone is 9 em
and base radius is 3 cm, find the volume of the ice-cream in the ice-cream
cone,
OR

Three solid spheres of radii 6 cm, 8 cm and 10 em respectively are melted to
form a single solid sphere. Find the radius of the resulting sphere.
33. Verify the de Morgan's law A - (B N ¢ )=(A-B)U(A-C ) using Venn
Diagram,
OR

f A={1, 2,3,4)and B={9 13, 17, 21 } and if function A — B is defined
by f(x) =4x + 5, represent f as (i) set of ordered pairs (if) an arrow diagram
(tit) a graph (iv) a table,

34. InA ABC, m 2 C is 20° greater than m £ A, Thesumof mZAand m~ C is
twice m £ B. Find the three angles.

OR
Factorise : x3 + 13x2 4+ 32x + 20,
35. Find the values of a and b if 25x% - 40x3 - 34x2 4 ax + b is a perfect square.

OR
Ifua.ndBaret.herontaufx2+8x-12=ﬂ.ﬂnd
|
i a*p
) oa-p
) o2+p2
36. Maximise : Z = 30x+ 20y

subjectto: 2x+y < 800,
X+ 2y < 1000,

X220 y=0
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A small maintenance project consists of the following jobs whose activities and

duration are given below :

Activity i-2l1-3|l2-3|2-4|3-4][3-5|4-5

Duration in days 20 25 10 12 D 8 10

(il Draw the network diagram
(1) Find the critical path and project duration.

Prove the converse of, "The perpendicular drawn from the centre of a circle to a
chord bisects the chord."

OR

P and @ are the points on the sides CA and CB respectively of a A ABC right
angled at C. Prove that AQ2 + BP? = AB* + PQ?2,

Showthat (9,0),(1,4)and (11, - 1) are collinear.

OR

'Find the equation of the perpendicular-bisector of the line joining the points

A(1,7)and B(-3,3).
If sin 8 = cos 6 where @ is an acute angle, find the value of
2

51:&1123 -sin?6-7.

OR

The angles of depression of the top and the bottom of a 12 m tall building from
the top of a tower are 45" and 60" respectively. Find the height of the tower.

The marks obtained by 10 students in a class test out of 100 marks are 62, 49,
71, 75, 33, 41, 100, 88, 50, 31. Calculate the standard deviation of the marks.

OR

Two dice are rolled once. Find the probability of getting an even number on the
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PART - D
( Marks : 20 )
Note: 1)  This part contains two questions, each with alternatives,

) Answer both the questions choosing either of the alternatives
under each question.

i) Each question carries ten marks. 2x10=20

Construct a triangle ABC such that BC =7cem, m£ A = 60' and altitude from
AtoBCis 45 cm.

OR

Take a point P at a distance of 7 cm from the centre of a circle of radius 3 ¢m
and from P draw two tangents PA and PB to the circle, Verify the lengths of the

tangents by algebralc calculation,

Draw the graph of y = 2x2 + x - 6 and hence find the roots of 2x2% + x - 10 = 0.
OR

Draw the graph of xy = 12, x, Yy > 0. Use the graph to find y when x = 5 and

X when y = 8,
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SCIENCE
( English Version )

Time Allowed : 21 Hours | [ Maximum Marks : 100

PART -1
(Marks : 20x 1 =20)
N.B.: 1 Answer all the questions.
) Choose and write the correct answer.

i) Each question carries one mark.

1. The angle of contact between pure water and clear glass is
a 90’ b) 0
c) 140° d 180°
2.  Which of the following substances has least specific heat capacity ?
a Aluminium b) Mercury
c) Copper d] Lead.
3.  The boiling point of water inside the pressure cocker is
a) 100°C b) 0O°C

¢ 120°C d - 120°C.
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During change of state the temperature of the substance

a) Increases b) decreases

¢}  does not change d) increases or decreases.
When an object reflects all colours simultaneously, it appears

a) white b) blue

c) red d) green.

The resistance of a conductor carrying a current 3A with a potential difference

15 V between its two ends is

a 5ohm b) 45 ohm

c) éﬂhm d 30 ohm.

When a radioactive nucleus disintegrates by emitting alpha particle its atomic

number
a) increases by two b) decreases by two
¢) increases by four d) decreases by four.

The catalyst which increases the decomposition of hydrogen peroxide is
a Iron b) Platinum
c)  Nickel d)] Manganese dioxide.

Glass is attacked by

a HCl b) H,SO,

¢ HF d) HNO ,.
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12,

13.

14.

15.

16.

3

The substance that converts hard water to soft water is
a) sodium carbonate b) sodium hydrogen carbonate
¢) calcium carbonate d) magnesium carbonate.

In Solvay process, the salt that separates out in carbonating tower is

a NH,HCO, b) NaHCO,

¢) Na,CO,4 .d} CaCl,.

The purest form of iron is

a) castiron b} wrought iron
c) steel . d) haematite.
The functional unit of skeletal muscle is

a) neuron b) nephron

¢} sarcomere d) cell

Spoilage of milk is caused by

a) Enterobacter b) Azotobacter
c}  Streptococcus d) Lactobacillus.
The genetic code has ................... codons.

af 50 b) 40

¢ 35 d) 64.

The type of RNA which carries the genetic information for the sequence of amino

acids is
a) mRNA bl (RNA
c) TRNA dl RNA.

| Turn over
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20.
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22.

23.

24.

4
Which of the following purifies blood ?

a Onion b) Garlic

c¢) Turmeric d) Cinchona.
B.C.G. vaccination gives immunization against

a) Polio b) Tetanus

¢} Tuberculosis d) Diphtheria.

Wild asses are confined to

a) Gir forest b} Rann of Kachchh
c) Sunderbans d) Nilgir hills.

Which part of the plant is affected by chlorosis disease ?

al Roots b) Stem
c) Leaves d) Fruits.
PART - 11

(Marks : 10x 1=10)
N.B.: i  Answer all the questions.
i) Each question carries one mark.
i) Answer should be in a word or in few words or in oue line.

Why do the sky divers use a spread-eagle position while falling ?
Name the heater used in calorimeter experiment.

What is the commercial unit of electric energy ?

What is the atomic number of the element R E 'y
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34.

35.
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Why is cooked food spoiled quickly in summer season ?
What happens when washing soda is kept in air for a long time ?
What is the functional group of Aldehydes ?
Why is thcsklnslimymﬁﬁg?
Mention the disease in which the blood glucose is too high.
Mention any one primary nutrient.

PART - III

(Marks : 15 x2=230)

N.B: i Answer any fifieen questions.
) Each question carries two marks.

i) Students should answer the Question Nos. 32 and 38 compulsorily.
These two questions are not included in the option.

Define Sublimation.

Calculate the centripetal force required by a car of mass 500 kg which takes a

round turn of radius 50 metre with a velocity of 20 ms~ 1.
Why do substances expand on heating ?
Define dispersion of light.

Write any two differences between compound microscope and astronomical

telescope.

I B . T ———
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36. State Fleming's left hand rule.

37. What is a nuclear reactor ?

38. The hydrogen ion concentration of a solution is 1 x 10-% mol. [~ !. Find the

hydroxyl ion concentration of the solution.
39. What iIs called setting of cement ?

40. Write any four types of glass,
41. What is flux ?

42. Why is sulphuric acid called the king of chemicals ?

43. How is soap prepared ?

44. Write any two uses of ethanoie acid.

45. How will you identify {a) Anopheles (b) Culex ?

46. What is template DNA ?

47. How are chromosomes classified based on the position of the centromere ¥

48. Draw a paddy seed and label its parts,

49. What is naturopathy ?

50. Write any two uses of Vinca rosea.

51. What are the common air pollutants ?

52. Mention the three methods of prawn culture.
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55.

56.

57.

58.

59.
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PART - IV
(Marks : 8x5=40)

N.B.: | Answer eight questions by choosing at least two questions from
each Group.

i) Each question carries five marks.

ifi Draw the diagrams wherever necessary.

GROUF - A
a) State and expiain Bernoull's theorem.
b) Mention any two applications of Bernoulll's theorem.
Describe the construction and working of a compound microscope.
State Ohm's law and explain how it can be verified.

Write the applications of radio-isotopes in the field of medicine.

GROUP - B
a). Define the rate of chemical reaction.
b) Define Ionic product of water.
¢) State Lowry and Brinsted theory.
Describe how Aluminium is extracted from its ore by electrolysis process.

What is fermentation ? How is ethanol prepared by fermentation ?
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GROUP - C

60. Describe the asexual reproduction in Penicillium,

61. Explain Watson and Crick model of DNA with the help of a diagram.
62. Whatarethetwntypeﬁufstemcella?E)q:lalnbnﬂﬂy.

63. Describe the control measures of noise pollution.

64. Give an account of cultivation of paddy.
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SOCIAL SCIENCE
( English Version )

Time Allowed : 2} Hours | [ Maximum Marks : 100

PART - A
(Marks : 30 x 1 = 30)
Note : ) Part - A consists of 30 questions.
i)  All the questions should be answered.

lii) Each question carries one mark.

Choose the correct answer :
L. Sir William Hawkins belonged to
a)  Portugal b)  Spain
c) England d)  France.
2.  The Indian Space Research Organisation is situated at
a)  Bangalore b) New Delhi
c) Hyderabad d) Chennai.
3.  Rast-Goftar was a
al city b) newspaper

c)] king d) social movement.
* - [ REP | [ Turn over
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Match the following :

B)
C

D)

(D

Marco Polo
Zamorin
Port of Ormuz

Vasco da Gama

Choose the correct answer :

A
a 3
b 4
) 1
d 2

B C D
4 2 1
3 1 2
4 2 3
1 3 4.

Match the following :

A
B)
Q)
D)

(m
Vinoba Bhave
Central Soclal Weifare Board
Female Infanticide Act

New Education Policy

Choose the correct answer :

A
a 4
b) 3
c) 2

B C D
1 3 2
1 4 2
3 4 1
4 2 3

(Im)
Sea route to India
Persian Gulf
Venice Merchant

Ruler of Calicut.

(Im)
1. 1953
2, 1986
3. Bhoodan Movement

4. 1961.



" 8. Match the following :

(0 (m
A) Vernacular Press Act 1. 1881
B} Hunter's Commission 20 1904
C) Factories Act 3. 1882
D} Indian University Act 4. 1878.

Choose the correct answer :

A B c D
a 4 3 1 2
b 2 1 4 3
¢ 1 3 2 4
d 3 4 2 5

7.  Pick out the correct statement ( only one statement is correct ) :
a) Lord Ripon earned the title ‘Father of Local Self Government’
b)  Lord Curzon laid the foundation of the Punjab University
¢}  Wellesley's Government passed the Indian Arms Act

d)  An Agricultural Research Institute was started at Mumbai.

* - | REP [ Turn over



7992
8.

10.

11.

12.

k- =

4
Pick out the correct statement ( only one statement s correct ) :

a) The Revolt at Cawmpore was led by Rani Lakshmi Bai.

b) During the time of the Great Revolt, the Governor General of India wa:

Canning

¢) Kunwar Singh was a teacher

d) During the time of the Great Revolt, the Governer General of India was
Clive.

Pick out the correct statement ( only one statement is correct )
a  Lord Wellesley is praised as the Akbar of the English East India Company
b)  Thugs were active in South India

¢)  Chanda Sahib was the son-in-law of Anwaruddin

d) Hyder All was the son ofa Lrade:f.

Pick out the correct statement (‘only one statement is correct )
a) The first non-aligned conference was held at Belgrade

b)  The headquarters of SAARC is Calro

€)  Apartheid was practised in China

d) The Kargil war took place in the year 1975.

Fill in the blanks with the suitable answers :

The world's largest dam fs ................... ]

Self-Help Groups are financially assisted by the Government through ............

scheme.



- Fe

14.

15.

16.

17.

18.

19.

20.

21.

A AR AR AL LRSI VL sssssasndendessss s DAMLILID.
Now the Chief Justice of Supreme Court is ..................

India has ..................... citizenship only.

Choose the correct answer :

The Central Council of Ministers is headed by

a) the Prime Minister b)  the President

c) the Vice-President d) the Deputy Prime Minister.
The office of the Election Commission of India is situated at

a) Mumbai b}  Chennai

c) New Delhi d) Kolkata.

Tenure of local bodies is

a) three years b) six years

c¢) four years d) five years.

The delta area in Tamil Nadu where Petroleum is found is

a) Tamirabarani b)  Vaigai

¢ Kaverl d) Palaru.
According to the Census of 1991, India's population was

a 4063 million bl 846-3 million

¢) 1000 million d) 400 million.

The map that helps us understand the flows between places is
a) schedule b)  graph

c) flow map d) samples.
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22. Match the following :

A)
B)
C)

D)

(N
Rain-shadow Region
Arid Region
Summer Resort

River Kaverl

Choose the correct answer :

A
a 3
by 4
cl- 2
d 1

B C D
4 2 1
3 1 2
4 1 3
3 2 4.

23. Match the following :

A)
B)
Q)

D)

(1)
Alluvium
Black soil
Red soil

Wetland vegetation

Choose the correct answer :

A
a 3
b) 2
c) 3
d 4

B C D
2 1 4
1 L 3
4 1 2
2 1 3.

Kodagu Hills
Mussoorie

Deccan Plateau

Thar Desert.

Sunderban

Paddy



| 24. Maich the following :

(%) (m
A} Chittaranjan 1. Cotton Textile Industry
B) Perambur 2. Iron and Steel Industry
C) Jamshedpur 3. Rall engine
D} Mumbai 4,  Rail coaches

Choose the correct answer :

A B € D
a 4 3 1 2
b) 3 4 2 1
c 1 3 - 2
d 2 4 1 3.

25. Pick out the correct statement ( only one statement is correct } :
a) Sugarcane grows well in the black soil
b) Wheat is the chief cash crop of India
c) Spices grow in plenty in Kerala

d) Kerala tops India in the cultivation of sugarcane.
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26.

27.

28.

29.

o

Pick out the correct statement ( only one statement is correct ) :

a) The most important source of energy in India is Gypsum

b) Tiruppur is called the Manchester of Tamil Nadu

¢) Coimbatore is called the Manchester of India

d) In the city of Nepanagar there is a newsprint industry.

Pick out the correct statement ( only one statement is correct ) :

a) Most of India's exports are beverages

b) Equatorial Rocket Launching Station is at Thumba

¢) In 1955 a National Planning Commission was set up

d) The main aim of eighth Five Year Plan was agricultural progress.

Pick out the correct statement ( only one statement is correct )i

a) The Headquarters of Southern Railway is at Madurai

b} The Headquarters of South Central Railway is at Secunderabad

¢ The Headquarters of South Eastern Railway is at Mumbai

d) The Headquarters of Western Railway is at Kolkata.

Fill in the blanks with suitable answers :

..................... is the backbone of a country's growth and development.

In the collection of data .........ccccoeeis is an important activity.

* —[REP |



PART - B
(Marks : 10 x 2 =20)

Note: 1) Select any four questions from History, any two from Civies and

any four from Geography. Answer ten questions in all.
1) Answer each of the following questions briefly.

i) All questions carry equal marks.

HISTORY ( Answer any four questions )
31. Give a short note on Bartholomeu Dias.
32. What was the role of Rani Lakshmi Bai in the Great Revolt ?
33. Bring out the services of Ramakrishna Mission.
34. Why did Gandhiji reject Cripps' proposal ?
35. What is meant by privatization ?
36. Name the Member Countries of the SAARC.
CIVICS ( Answer any two questions )
37. How is the Vice-President elected in India ?
38. What is Bye-election ?
39. List out the three heads of the relations between the Centre and the states.
GEOGRAPHY ( Answer any four questions )
40. Write a short note on the Western Ghats.

41. Define ‘Rain water harvesting'.
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42,

43.

44,

45.

46.

47.

48.

49,

10

Write a short note on Millets.

What are the Minimum Levels of Learning ?

How did the efforts of Pandit Jawaharlal Nehru lead to Industrial Development ?

Why are the Gangetic plains densely populated ?

b)

b)

b)

PART - C
( Marks : 6 x 5 =30)

Note: 1) Answer all questions.

E

All questions carry equal marks.

Only one of the alternatives in each question should b

answered.
How did the Portuguese establish their trading centres in India ?
OR
Enumerate the causes for the failure of the Revolt of 1857.

Estimate the growth of Science and Technology in India sinc

Independence.
OR
Describe the relations of India with neighbouring countries.
Explain the powers and functions of the President of India.
OR
What are the powers and functions of the Electlon Commission of India ?
How are the members of the Local bodles elected ?
OR

Write in detail about the voting right, voter identity card and the voll

gystem.
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50.

nent ?

51.

11d be

| 2.

since

53.

a’?

oting

a) How does the North-East Monsoon originate and blow ?
OR

b) Describe the methods of Paddy cultivation in Tamil Nadu.,

a  Write an essay on the plans that made India an emerging Nation.
OR

b) Describe any one of the Services in India.

PART - D
(Marks : 4 x5=20)
Note: ) Answer all questions.
)  All questions carry equal marks.

Mark the following places in the outline map of India and draw the boundaries
of India and Pakistan in 1947 :

a) Srinagar

b) Hyderabad

c) Bihar.

Draw a time-line chart for the following events :
a) Swadesi Movement

b) Lucknow Pact

¢} Jalllanwala Bag Massacre

d) Non-Cooperation Movement

€) Salt Satyagraha.

*-—- | Turm over



55.

receiving the rains.

OR

Show on the map of India Railway route from Chennai to Delhi with two railway

stations in the route.
OR
Show on the map of India Cotton Cultivation Reglons.

Prepare a simple questionnaire for collecting information on the sanitation of the

local area or the village.

Note : Blind candidates may be asked to write only notes for map questions

and time-line chart.
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